
LagrangeMultipliers :
The question Lagrange multipliers help we answer is :

What are the maximum and minimum of a function

f(x ,4) when I'm restricted to the ent of prints

g(x ,y) = 0 ?

To give a conceptual explanation of how this leads

to the equation #f (a, b) = X g(a, b) , let's

first discuss optimization of f without the constraint

of g(x ,) = 0 in a slightly different way .

So suppose I have some function f(X ,4) with gradient

#f .
As an example :

Let f(x ,y) = x3 + y3- 3x -by

#f = (3x2 - 3
,
342 - 3)

Now if we eat the gradient equal to 0 ,
we get

four critical points
: (1 , 1) ,

(1-1)
,
(11)

,
G
,-1)

The disciplant is 36Xy
,
to our four pts are

classified as :












